No.1 100mEA A FL—

148
PE EF RERRE EERR EIE 3
1
2F8 FfE 2 8 2% 2:16.0
3 hE B3 /3 8 28k 2:16.0
4 AR = h2 8 28 2:16.0
5
248
SE EF RE2RE EEER Z ®
1
2 #E BBEF N2 T 2% 2:16.0
3T = h2 8 2% 2:16.0
4 £ HE N9
5
348
P& EF RERRE EEER Z ®
1
2 BB FEF 3 8
3HE FHE M3 8
4#4H EE /M9
5
A%H
SE FE RERRE EERR 1R
1
2L —B /5 10 28 2:03.0
3
4 FN %R NG 11
5
5%
SE GF RERRE EERR ol
1
2 5% @i G2 13 2% 1:39.0
3
4 BF EHF P2 14 288 1:39.0
5

No.2 25miREw %

148

BE S REZRG EELH EIE
1
258 R oM 7
JEHE EAN /M 6
4 R 1% w2
5

]

No.3 50m/ N2 2054
148

BE S REZRG EELR EIE
1
20 gz 2 7
Jaa)il £ AN /38
4@ B /6 11 3R 52.0
5
248

BE S REZRG EELH EIE
1
2 {8 &% /5 10
3
41O 52z 5 10
5
No4 25miik &
1#8

BE S REZRG EELG ElE -
1
2
3&XHA ZEth /N3 8 5%k 40.0
4
5
No5 25mE MR
1#8

BE S REZRG EEEG ElE -
1
258 R oM 7
3 Eg = VA
4EF D b2 7 7% 45.0




No.b 25mB B
248

PE ) RTEZRE FERE e 8%
1

2Ll ZEFm N2 T 5%k 35.0

3T f&H N3 8 44R/5HR 31.0/%50

4FN % N9

5

No.6 50miyikF
148

PE FE REZRK RERR e 8%
1

2 #E BBEF b2 T Ijk 1:12.0

3

4 %l R /6 12 34k 55.0

5

NG
No.7 200mfEA #* KL —
148
PE ) RTEZRE FERE 08
1

2B & N2 8 1% 4:31.0

3HLE W N3 8 1% 4:31.0

41xF MEA /M9 14k 3:49.0

5

2#8
$E FH RESRG WERR 247
1

2810 &A 510 1% 3:49.0

3

4 F)N 28 e 11

5

38
$E Fi REZRG BERR R &
1

2 RIE HEL /M5 10

3

4 187 1&HX /5 10

5

No.8 50mEk =
148

SE G REZERR BERRK i 8%
1

2 Jasper - Guo /3 8 3k 1:20.0

SEE HE M9

4 4e) BEF h5 10 3k 1:11.0

5

248
S G RERRG EEER K R®
1

2%A BE 2 7 ML 1:20.0

3 K& N3 8 3% 1:20.0

4 RIE HEL /M5 10

5

No.9 25miN32 754

148
BE S REZRG EELH EIE
1
2N #mz M9 T#% 48.0
3
4% K 6 12 4R 25.0
5

K&

No.10 25miEk &
148

PE N REZRR BERRK 2 %
1

2 B * N2 7

3 EN #mz M9 4%k 49.0

4 EFN N9

5EME #HE /6 11 B 30.0

No.11 50mBHF2

1#8
BE S REZRG EEEG 2 %
1
2 Jasper = Guo /13 8 3k 1:03.0
Il A 38
4 &XH FEth /3 8 3 1:03.0
51%F MHA M9




No.11 50mBE R
248
SE S RERRE ZELR EIE
1
210 Bz 2 7
J@EE /FE M2 7 3k 1:03.0
4 #E W N3 8
5
3%H
SE S RESRE FELR )
1
2 B #EP 38
3HLE FWHHE /N3 8
4 A EE /N3 9
5
4%H
SE S RERRE ZELR EIE
1
27 K& N3 8 3 1:03.0
3
410 Bz /b 10




